
(1)　 2
0 1++a b c  を展開すると

　　　　　　 2
0 1++a b c = 2a + 2b + 2c +20ab+bc 1+ca

　a+b+c=1， 2a + 2b + 2c =13 であるから

　　　　　　 21 =13+20ab+bc 1+ca

　ゆえに　　ab+bc+ca=
-1 13

2
=アイ-6

　よって　　 2
0 1-a b + 2

0 1-b c + 2
0 1-c a

　　　　   =0
2a -2ab 1+ 2b +0

2b -2bc 1+ 2c +0
2c -2ca 1+ 2a 　　　　　　　　　　　　

　　　　   =20
2a + 2b 1+ 2c -20ab+bc 1+ca

　　　　   =2･13-2･0 1-6 =26+12=ウエ38

(2)　b-c=x，c-a=y とおくと

　　　　　　x+y=0b 1-c +0c 1-a =b-a=オカ-2U5

　また，(1) の計算から

　　　　　　 2x + 2y = 2
0 1-b c + 2

0 1-c a

　　　　　　　　　=38- 2
0 1-a b =38- 2

0 12U5

　　　　　　　　　=38-20=キク18

　 2
0 1+x y = 2x + 2y +2xy であるから　　 2

0 1-2U5 =18+2xy

　ゆえに　　xy=
-20 18

2
=1

　よって　　0a 1-b 0b 1-c 0c 1-a =2U5 xy=ケ2U5
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